

United States Department of the Interior

BUREAU OF LAND MANAGEMENT

Farmington District Office 6251 College Blvd., Suite A Farmington, New Mexico 87402 www.blm.gov/nm



In Reply Refer To: NMSF079634 3162.3-1 (211)

March 25, 2013

RCVD MAR 27 '13 OIL CONS. DIV. DIST. 3

Burlington Resources O & G Co. Attn: Kenny Davis P.O. Box 4289 Farmington, NM 87499

Dear Mr. Davis:

Reference is made to your Application for Permit to Drill (APD) for the following well(s):

McClanahan #3S located 1430' FNL and 1000' FWL, Section 24, T28N, R10W, San Juan County, New Mexico on Federal Lease No. NMSF079634 API # 3004534847

The APD has expired, therefore, the application for permit to drill is being returned with no further action taken.

Sincerely,

Virginia Rarber

Petroleum Management Team

cc: Well file NMOCD**A**

AFMSS/vbarber/rtn apd/Burlington/03/25/2013

Form 3160-5 (August 2007)

UNITED STATES DEPARTMENT OF THE INTERIOR **BUREAU OF LAND MANAGEMENT**

false, fictitious or fraudulent statements or representations as to any matter within its jurisdiction.

(Instruction on page 2)

FORM APPROVED OMB No. 1004-0137

MAD 22 2h13

Expires: July 31, 2010

•	•	1414	in er i	5. Lease Serial No.	
·	•	£	eton Fiel	4 Office S	SF-079634
SUN	DRY NOTICES AND REPO this form for proposals to well. Use Form 3160-3 (AF	RTS ON WELLS!!	gronnien Land Ma	6 If Indian Allottee or Tribe	Name
Do not use	e this form for proposals to	o arılı or-tø∙re±ente	er an		
			osals.		
	BMIT IN TRIPLICATE - Other instru	uctions on page 2.		7. If Unit of CA/Agreement, 1	Name and/or No.
1. Type of Well	70.37			0.337.11.37	
Oil Well	Gas Well Other		•	8. Well Name and No.	Clanahan 3S
2. Name of Operator				9. API Well No.	Ciananan 33
	ton Resources Oil & Gas C	Company LP			045-34847
3a. Address	1	b. Phone No. (include ar		10. Field and Pool or Exploratory Area	
PO Box 4289, Farmington		(505) 326-9	700	l	Coal/Pictured Cliffs
4. Location of Well (Footage, Sec., T.,R Surface UL E (SW)	.,M., or Survey Description) NW), 1430' FNL & 1000' FW	/L, Sec. 24, T28N,	R10W	11. Country or Parish, State San Juan	, New Mexico
12. CHECK	HE APPROPRIATE BOX(ES)	TO INDICATE NATU	RE OF NO	I TICE, REPORT OR OTH	HER DATA
TYPE OF SUBMISSION		TY	PE OF AC	TION	
X Notice of Intent	Acidize	Deepen	Пр	roduction (Start/Resume)	Water Shut-Off
	Alter Casing	Fracture Treat		eclamation	Well Integrity
Subsequent Report	Casing Repair	New Construction		ecomplete	X Other Rescind APD
	Change Plans	Plug and Abandon		emporarily Abandon	
Final Abandonment Notice	Convert to Injection	Plug Back	===	Vater Disposal	
13. Describe Proposed or Completed Op	peration: Clearly state all pertinent detail	ls_including estimated sta	rting date of a	ny proposed work and approvi	mate duration thereof
					n 3/27/2012 and a copy of the
,		•		ACCEPTED	OD DECODD
				ACCEPTED	FOR RECORD
				MAR 2	5 2013
				WAIT Z	2013
14. Thereby certify that the foregoing is		n T			
14. Thereby certify that the foregoing is	titue and correct. Name (Franca Types			FARMINGTON	FIELD OFFICE
Kenny Davis		Title Sta	f Regulatory T		
			/_	- /	•
Signature C2 &		Date	3/2	2 /13	
	THIS SPACE FOI	R FEDERAL OR S	TATE OF	ICE USE	
Approved by			T		
Voaller			Title		Date 3/25/13
Conditions of approval, if any, are attact that the applicant holds legal or equitabentitle the applicant to conduct operation	le title to those rights in the subject leas		Office B	LOM-FDO	
Title 10 H C C Section 1001 and Title	42 ILS C. Section 1212 make it a single	for any parson line	and willfull	to make to any departure.	Sala Haidad State

ConocoPhillips

Reclamation Form:
Date: <u>N/5/12</u>
Well Name: McClanahan 35
Footages: 1430 FNL, 1000 FWL Unit Letter: E
Section: <u>24</u> , T- <u>28</u> -N, R- <u>10</u> -W, County: <u>S3</u> State: <u>NM</u>
Reclamation Contractor: R:+++er-
Reclamation Date: 3/27/12
Road Completion Date: 3/27//2_
Seeding Date: 4/5/12
**PIT MARKER STATUS (When Required): Picture of Marker set needed MARKER PLACED: (DATE) LATATUDE:
LONGITUDE:
Pit Manifold removed(DATE)
Construction Inspector: Norman Faver Date: 4/5/12
Inspector Signature: Norman Faver Date: 4/5//2

A_{ξ}	130 Jacob 8 LINITED STATES	KECEMI
- 3	MIA DEPARTMENT OF THE INTER	NOV 12 2008
- 11 Bi	BUREAU OF LAND MANAGEM	
	ADDI ICATION FOR REPUBLIC TO DRIVE DEED	Bureau of Lang Jana Farmingto Field O
	APPLICATION FOR PERMIT TO DRILL, DEEP	EN, OR PLUG BACK
1a.	Type of Work	5. Lease Number
1389	DRILL	ປSA SF-079634 🎢 Unit Reporting Number
1b.	Type of Well GAS	6. If Indian, All. of Tribe
	GAD	<u> </u>
2.	Operator	7. Unit Agréement Name
	BURLINGTON BURLINGTON	A second
	RESOURCES Oil & Gas Company, LP	_ JNIA
3.	Address & Phone No. of Operator	8. Farm or Lease Name
	PO Box 4289, Farmington, NM 87499	McClanahan
	(505) 326-9700	// Well Number #3S
		<i>[</i>
4.	Location of Well	10. Field, Pool, Wildcat
	Unit E (SWNW), 1430' FNL & 1000' FVL	Basin Fruitland Coal/ Blanco Pictured Cliff
•		11. Sec., Twn, Rge, Mer. (NMPM)
	Latitude 36.650996 N	Sec. 24, T28N, R10W
	Longitude 107.852583 W	API # 30-045- 34847
14.	Distance in Miles from Nearest Town	12. County 13. State
	12 mile/Bloomfield	San Juan / NM
15.	Distance from Proposed Location Property or Lease	Line
4.0	1000'	
16.	Acres in Lease	17. Acres Assigned to Well
	2040	<u> </u>
	2040'	FC 320 (W/2)
		FC 320 (W/2) PC 160 (NW/4)
18.	Distance from Proposed Cocation to Nearest Well, Drig, Compl,	FC 320 (W/2) PC 160 (NW/4)
18. 19.	Distance from Proposed Cocation to Nearest Well, Drig, Compl, 70' from the Mc@Tanahan 16E	FC 320 (W/2) PC 160 (NW/4) or Applied for on this Lease
	Distance from Proposed Cocation to Nearest Well, Drig, Compl, 70' from the McClanchen 16E Proposed Depth This act Subject to technical and proposed September 19 proposed Septe	FC 320 (W/2) PC 160 (NW/4)
19.	Distance from Proposed Cocation to Nearest Well, Drig, Compl, 70' from the McClanahan 16E Proposed Depth This act Subject to technical and piceoural friew pursuant to 43 CFR 3165.3	FC 320 (W/2) PC 160 (NW/4) or Applied for on this Lease 20. Rotary or Cable Tools Rotary
	Distance from Proposed Cocation to Nearest Well, Drig, Compl, 70' from the McClanchen 16E Proposed Depth This act Subject to technical and proposed September 19 proposed Septe	FC 320 (W/2) PC 160 (NW/4) or Applied for on this Lease 20. Rotary or Cable Tools Rotary 22. Approx. Date Work will Start
19.	Distance from Proposed Cocation to Nearest Well, Drig, Compl, 70' from the McClanahan 16E Proposed Depth This act Jubject to technical and piceagural fiview pursuant to 43 CFR 3165.3 Elevations (DF, TGR, Etc.) 5763' GL	FC 320 (W/2) PC 160 (NW/4) or Applied for on this Lease 20. Rotary or Cable Tools Rotary 22. Approx. Date Work will Start DRILLING OPERATIONS AUTHORIZED ARE SUBJECT TO COMPLIANCE WITH ATTACHED
19.	Distance from Proposed Cocation to Nearest Well, Drlg, Compl, 70' from the McClanahan 16E Proposed Depth This act Subject to technical and pleagural view pursuant to 43 CFR 3165.3 Elevations (DF, H) GR, Etc.) Proposed Casing and Cementing Program	FC 320 (W/2) PC 160 (NW/4) or Applied for on this Lease 20. Rotary or Cable Tools Rotary 22. Approx. Date Work will Start DRILLING OPERATIONS AUTHORIZED ARE
19.	Distance from Proposed Cocation to Nearest Well, Drig, Compl, 70' from the McClanahan 16E Proposed Depth This act Jubject to technical and piceagural fiview pursuant to 43 CFR 3165.3 Elevations (DF, TGR, Etc.) 5763' GL	FC 320 (W/2) PC 160 (NW/4) or Applied for on this Lease 20. Rotary or Cable Tools Rotary 22. Approx. Date Work will Start DRILLING OPERATIONS AUTHORIZED ARE SUBJECT TO COMPLIANCE WITH ATTACHED

PERMIT NO.

APPROVED BY

Archaeological Report attached
Threatened and Endangered Species Report attached
NOTE: This ormat is issued in lieu of U.S. BLM Form 3160-3
Title 18 U.S.C. Section 1001, makes it a crime for any person knowingly and willfully to make to any department or agency of the United States any false, fictitious or fraudulent statements or presentations as to any matter within its jurisdiction.

Example Master Plan Type 2

Bond Numbers NMB-000015 and NMB-000089

APPROVAL DATE